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; 100kN/MZE#BZ5| 1.00 | 0.00 ~ 234 136.56 |3mZEBRB| — ~ — — — | 100kN/mi%#82% | 1.00 | 1055 ~ 2000 136.56 |3m&EEZS -~ — — —
ZnLs 1.00 1234 ~ 1013 100.00 | =S 000 ~ 1013|275 13.89 ZhLs 1.00 | 5.00 ~ 10.656 100.00 | ThBSt | 5,00 ~ 2000 2.756 13.89
2 100kN/MZE#BZ5 | 1.00 | 0.00 ~ 234 136.56 |3mZEBZB| — ~ — — — | 100kN/mi%#82% | 1.00 | 10565 ~ 2000 136.56 |3m&EEZD -~ — — —
ZnLs 1.00 1234 ~ 1013 100.00 | =S 000 ~ 1013|275 13.89 ZhLs 1.00 | 5.00 ~ 10.656 100.00 | ThBSt | 5,00 ~ 2000 2.756 13.89
P 100kN/mMZ#BZ5 | 1.00 | 000 ~ 250 139.21 |3mZEHBRB| — ~ — — — | 100kN/mi%#82% | 1.00 | 1064 ~ 21.00| 139.21 |3mEEZD -~ — — —
ZnLs 1.00 1 250 ~ 1029 100.00 | =L | 000 ~ 1029 2.80 14.18 ZhLs 1.00 | 6.00 ~ 10.64 100.00 | ThSt | 5,00 ~ 2100 2.80 14.18
4 100kN/mMZ#8 % % — -~ = —|3mZEBZB| — ~ — — — | 100kN/MZ#B% % — -~ — —|3mZEBZ B -~ — - -
Lot 1.00 | 0.00 ~ 761 97.39 | st 000 ~ 761227 11.48 ZhLs 1.00 | 6.00 ~ 10.22 97.39 | #nLS | 5,00 ~ 1022|227 11.48
5 100kN/mMZ#8 % % — -~ = —|3mZEBZB| — ~ — — — | 100kN/MZ#B% % — -~ — —|3mZEBZ B -~ — - -
Lot 1.00 1 0.00 ~ 6.63 83.65 | Thst | 000 ~ 6.65| 1.80 9.09 ZhLs 1.00 | 5.00 ~ 8.00 83.65 | Ehs | 5,00 ~ 800 | 1.80 9.09
é 100kN/MZ#8 % % — -~ = —|3mZEBZB| — ~ — — — | 100kN/MZ#B% % — -~ — —|3mZEBZ B -~ — - -
Lot 1.00 1 000 ~ 477 59.50 | Thds (000 ~ 000|171 867 ZhLs 1.00 | 5.00 ~ 5.00 59.60 | =nLS | 5,00 ~ 56,00\ 171 8.67
100kN/MZ#8 % % ~ ImEBZD ~ 100kN/m%Z#B% 5% ~ ImEBZD ~
ZhLS ~ Zhn s ~ Zhn s ~ ZThst ~
100kN/MZ#8 % % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZD ~
ZhLS ~ Zhn s ~ Zhn s ~ ZThst ~
100kN/mMZ#8 % % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZD ~
TS ~ Zn s ~ Zn s ~ zhst ~
100kN/MZ#8 % % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZDS ~
TS ~ Zn s ~ Zn s ~ zhst ~
100kN/mMZ#8 % % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZD ~
TS ~ Zn s ~ Zn s ~ zhst ~
100kN/mMZ#8 % % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZDB ~
ZThLS ~ Zn LS ~ Zn LS ~ zhst ~
100kN/mMZ#8 % % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZDB ~
ZhLS ~ Zh s ~ Zh s ~ zhst ~
100kN/mMZ#8 % % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZDB ~
ZThLS ~ Zn LS ~ Zn LS ~ zhst ~
100kN/mMZ#8 % % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZDB ~
ZznLst ~ Th st ~ Th st ~ ZnLst ~
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